
Page 1

Aftershock LE Parts List
Suspension Parts
LOSB2001	 F/R Suspension Arms (pr) (LST/AFT). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  10.00
LOSB2101	 F/R Spindles & Carriers (LST/AFT). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  7.00
LOSB2102	 Steering Bellcranks, Shafts & Chassis Braces (LST/2). .  .  .  7.00
LOSB2151	 F/R Shock Tower & Pin Mounts (LST/2). .  .  .  .  .  .  .  .  .  .  .  .  .  .  8.50
LOSB2201	 F/R Suspension Pin Brace Set (AL)(LST/2). .  .  .  .  .  .  .  .  .  .  .  7.00

Chassis Parts
LOSB2252	 Chassis Skid Plate (LST/2). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  9.50
LOSB2253	 Top & Brace Chassis Plates (LST/2). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  13.99
LOSB2254	 Motor Plate/Chassis Brace (LST/2). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  6.00
LOSB2256	 Chassis Side Rails (LST/2). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  8.50
LOSB2257	 R&L Bulkheads & Diff Retainer (LST/2) . .  .  .  .  .  .  .  .  .  .  .  .  .  .  6.00
LOSB2259	 Main Chassis Plate (Ram/AFT LE). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  31.99
LOSB2350	 Radio Box & Hardware (LST/2). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  7.00
LOSB2351	 Battery Mount Set (LST/2) . .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  5.50
LOSB2401	 F/R Bumpers & Braces (LST/2) . .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  10.99
LOSB2450	 F/R Body Mount Posts & Hardware (LST/2). .  .  .  .  .  .  .  .  .  .  .  3.50

Shocks
LOSB2815	 Shock Nut & Cap Molded (4) (LST) . .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  9.00
LOSB2820	 Molded Shock Body (2) (AFT). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  9.99
LOSB2840	 Shock Shaft (LST/2). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  5.00
LOSB2875	 Shock Cartridges & Seals (2) (LST/2). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  6.00
LOSB2876	 Shock Cartridges & Cap O-Rings (8) (LST/2). .  .  .  .  .  .  .  .  .  .  3.00
LOSB2880	 Assembled Molded Shock with Spring (no oil) (AFT). .  .  .  19.99
LOSB2900	 Shock Hardware - All Plastics (LST/2) . .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  6.50
LOSB2948	 Shock Springs - Flat Black (AFT). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  6.00

Transmission
LOSB3102	 Transmission Case Set (LST/2) . .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  10.99
LOSB3118	 Fwd/Rev Bevel Gear Set. .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  9.99
LOSB3125	 Transmission Drive & Selector Pin Set (LST/2) . .  .  .  .  .  .  .  .  2.00
LOSB3127	 Transmission Output Shaft & Space (LST/2) . .  .  .  .  .  .  .  .  .  .  3.50
LOSB3128	 Transmission Outdrive Cup Set (LST/2). .  .  .  .  .  .  .  .  .  .  .  .  .  .  9.00
LOSB3132	 Fwd. Only Input Shaft Set (LST/2/AFT) . .  .  .  .  .  .  .  .  .  .  .  .  .  .  5.50
LOSB3133	 Fwd. Only Input Gear 22T (LST/2/AFT) . .  .  .  .  .  .  .  .  .  .  .  .  .  .  9.00
LOSB3135	 Fwd. Only Counter Shaft Set (LST/2/AFT). .  .  .  .  .  .  .  .  .  .  .  .  3.50
LOSB3136	 Fwd. Only Counter Gear 22T (LST/2/AFT). .  .  .  .  .  .  .  .  .  .  .  .  9.99
LOSB3138	 Fwd. Only Transmission Plug Set (LST/2/AFT) . .  .  .  .  .  .  .  .  3.50
LOSB3190	 Gear Cover (2-speed) (LST/2) . .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  4.50
LOSB4203	 FWD/REV & Brake Arms (LST/2). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  3.00

Clutch Parts
LOSB3301	 Flywheel, Collet & Nut (LST/2). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  10.99
LOSB3322	 Clutch Spring Set (3) Silver (LST/2). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  3.00
LOSB3341	 18T/25T One-piece Clutch Bell - Steel (LST/2). .  .  .  .  .  .  .  .  19.99

2-Speed & Slipper Parts
LOSB3401	 2-Speed Cam & Bushings (LST/2). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  17.99
LOSB3404	 2-Speed Clutch Shoes & Hardware (LST/2). .  .  .  .  .  .  .  .  .  .  .  3.50
LOSB3409	 2-Speed Low-Gear 1-way (AFT). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  14.99
LOSB3421	 70T Spur (Low) Gear & Hardware (AFT) . .  .  .  .  .  .  .  .  .  .  .  .  .  5.00
LOSB3423	 63T Spur (Hi) Gear & Bell (AFT). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  7.00
LOSB3450	 Slipper Cage (LST/2) . .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  14.99
LOSB3451	 Slipper Pads & Plates (LST/2) . .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  7.00
LOSB3455	 2-Speed/Slipper Thrust Bearing & Hardware (LST/2). .  .  .  .  5.00

Drivetrain Parts
LOSB3501	 F/R CV Driveshaft Set (2) (LST/AFT). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  37.99
LOSB3502	 F/R Driveshaft Only (2) (LST/AFT). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  11.95
LOSB3503	 F/R Axle Right Side - Silver (LST/AFT). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  6.50
LOSB3504	 F/R Axle Left Side - Black (LST/AFT). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  6.50
LOSB3505	 CV Driveshaft Rebuild Set (LST/AFT). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  7.00
LOSB3508	 Wheel Hexes & Drive Pins (4 ea,) (LST/AFT). .  .  .  .  .  .  .  .  .  .  3.00
LOSB3529	 F/R Differential Assembled Complete. .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  49.99
LOSB3534	 F/R Differential Ring & Pinion (LST/2). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  26.99
LOSB3537	 F/R Differential Housing (LST/2). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  4.00
LOSB3538	 F/R Differential Bevel Gear Set (LST/2) . .  .  .  .  .  .  .  .  .  .  .  .  .  .  7.00
LOSB3539	 F/R Differential Seal Set (2) (LST/2). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  3.50
LOSB3540	 F/R Differential Outdrive Set (LST/2) . .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  9.00
LOSB3541	 F/R Differential Drive Yoke (LST/2). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  5.00
LOSB3545	 Center CV Driveshaft (LST/2). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  10.99
LOSB3601	 Brake Disks - Steel (2) (LST/2). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  4.00
LOSB3603	 Brake Cam (LST/2). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  3.00
LOSB3605	 Brake Pads & Brackets (LST/AFT). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  5.00

Hardware
LOSA3045	 Gear Cover Accessory Plug . .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  1.50
LOSA4002	 Antenna Tube & Cap. .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  2.25
LOSA4003	 Antenna Caps. .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  1.25
LOSA6100	 1/8-inch E-Clips. .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  1.25
LOSA6103	 3/32-inch E-Clips. .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  1.25
LOSA6106	 4mm E-Clips (12) . .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  2.00
LOSA6107	 6mm E-Clips (12) . .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  2.00
LOSA6201	 3 x 6mm Socket Head Screws & Washers. .  .  .  .  .  .  .  .  .  .  .  .  3.99
LOSA6204	 4-40 x 1/2-inch Cap Head Screw (10). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  1.50
LOSA6206	 4-40 x 3/8-inch Cap Head Screw (10). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  1.50
LOSA6210	 4-40 x 3/8-inch Flat Head Screw (10). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  1.50
LOSA6216	 4-40 x 7/8-inch Cap Head Screw (10). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  1.50
LOSA6220	 4-40 x 1/2-inch Flat Head Screw (10). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  1.50
LOSA6221	 4-40 x 5/8-inch Cap Head Screw (6). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  1.50
LOSA6227	 4-40 Hardened Setscrew (10). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  1.50
LOSA6229	 4-40 x 3/8-inch Button Head Screw (10). .  .  .  .  .  .  .  .  .  .  .  .  .  .  1.50
LOSA6232	 2-56 x 1/4-inch Cap Head Screw (10). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  1.50
LOSA6233	 4-40 x 5/8-inch Flat Head Screw (10). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  1.80
LOSA6234	 4-40 x 1/4-inch Button Head Screw (10). .  .  .  .  .  .  .  .  .  .  .  .  .  .  2.00
LOSA6240	 5-40 x 1/2-inch Cap Head Screw (8). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  2.50
LOSA6241	 5-40 x 5/8-inch Cap Head Screw (8). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  2.50
LOSA6242	 5-40 x 1 1/4-inch Cap Head Screw (4). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  4.00
LOSA6244	 Kingpin Screw (8) (LST). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  2.00
LOSA6246	 2-56 x 5/8-inch Cap Head Screw (8). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  3.00
LOSA6247	 2-56 x 3/4-inch Cap Head Screw . .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  2.50
LOSA6250	 4mm & 5mm Setscrews (4). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  2.00
LOSA6252	 3 x 10mm Button & Flat Head Machine Screws. .  .  .  .  .  .  .  .  2.00
LOSA6307	 5-40 Nuts - Lock & Hex (4). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  3.40
LOSA6305	 4-40 Low Profile Locknuts. .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  4.00
LOSA6321	 5mm Locknuts - R & L Thread (4). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  2.50
LOSA6350	 #4 & 1/8-inch  Hardened Washers . .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  2.00
LOSA6355	 2.2 & 3.6mm Washers (6). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  2.00
LOSA6356	 5 & 6mm Shim Set . .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  5.99
LOSA6907	 5 x 8mm Shielded Ball Bearing. .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  5.00
LOSA6937	 5 x 10mm Shielded Ball Bearings (2). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  8.00
LOSA6940	 6 x 12mm Shielded Ball Bearings (4). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  13.99
LOSA6941	 6 x 12mm Flanged Ball Bearings (4). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  8.00
LOSA6942	 8 x 16mm Sealed Ball Bearings (4). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  7.00
LOSA8200	 Body Clips. .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  2.00
LOSB4001	 93mm Turnbuckle Set with Ends (2) (LST). .  .  .  .  .  .  .  .  .  .  .  11.99
LOSB4020	 Rod Ends & Pivot Balls (8) (LST). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  7.00
LOSB4104	 Pivot Pin Set (4) (LST2) . .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  11.99
LOSB4111	 Spindle Bearing Spacer Set (LST/AFT) . .  .  .  .  .  .  .  .  .  .  .  .  .  .  2.50
LOSB4201	 Steering Hardware Set (LST/2). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  7.50
LOSB4203	 Fwd/Rev & Brake Arms (LST/2/AFT) . .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  3.00
LOSB4204	 Throttle, Brake & Reverse Linkage Set (LST2). .  .  .  .  .  .  .  .  .  6.00
LOSB4250	 Servo Saver & Mount Set (LST/2). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  10.99
LOSB4601	 Tool Set. .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  4.50
LOSB4603	 4-way Wrench - Steel . .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  6.00

Motor Accessories
LOSB5001	 Fuel Tank (LST/AFT). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  14.99
LOSB5003	 Fuel Tank Lid & Spring (LST/2). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  4.00
LOSB5005	 Fuel Tank Mounts & Hardware (LST/2). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  3.75
LOSB5009	 Fuel Filter Heat Resistant. .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  4.99
LOSB5020	 Air Cleaner with Oil (LST/2) . .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  11.99
LOSB5021	 Air Cleaner Foam Set (LST/2). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  6.99
LOSB5030	 Engine Mounts (LST/2). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  10.99
LOSB5049	 Exhaust Header, Spring & Seal (AFT) . .  .  .  .  .  .  .  .  .  .  .  .  .  .  14.99
LOSB5052	 Exhaust Connecter & Pull Ties (AFT). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  3.50
LOSB5062	 Exhaust Pipe/Muffler (AFT). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  19.99
LOSA9315	 24-inch Fuel Tubing. .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  2.50

Wheels & Tires
LOSB7001	 “Magneto” Chrome Wheels (pr) (LST/AFT). .  .  .  .  .  .  .  .  .  .  .  12.99
LOSB7201	 “Claw” MT Tires withFoam (LST/AFT). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  29.99
LOSB7401	 “Magneto” Wheels/”Claw” Tires Glued (pr) (LST/AFT). .  .  44.99

Bodies & Accessories
LOSB8019 	 Aftershock Painted Black Body with Stickers. .  .  .  .  .  .  .  .  .  54.99
LOSB8203	 Aftershock Sticker Sheet. .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  6.00



Page 2

Aftershock LE Parts Lis
t

Aftershock LE Parts List
OPTION PARTS
Suspension Parts
LOSB2221	 Sway Bar Kit (LST/2). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  14.99

Chassis Parts
LOSB2260	 Heavy-Duty Chassis Plate - Hard-Anodized (LST/2) . .  .  .  49.99
LOSB2261	 Heavy-Duty Chassis Skid Plate - Hard-Anodized (LST/2).24.99
LOSB2262	 Heavy-Duty Chassis Top Plate - Hard-Anodized (LST/2). 16.99
LOSB2263	 Heavy-Duty Front Bottom Plate - Hard-Anodized (LST/2).16.99
LOSB2264	 Heavy-Duty Rear Bottom Plate - Hard-Anodized (LST/2). 18.99
LOSB2270	 Hi-Perf Graphite Chassis Plate (LST/2) . .  .  .  .  .  .  .  .  .  .  .  .  109.99
LOSB2271	 Hi-Perf Aluminum Skid Plate - Hard-Anodized (LST/2). .  .  24.99
LOSB2272	 Hi-Perf Graphite Top Plate (LST/2). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  36.99
LOSB2273	 Hi-Perf Aluminum Front Bottom Plate - Hard-Anodized (LST/2)	
18.99
LOSB2274	 Hi-Perf Aluminum Rear Bottom Plate - Hard-Anodized (LST/2)	
18.99
LOSB2451	 Extra Long Body Mounts (LST/2). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  4.50
LOSB2501	 Wing Mount Plastics (LST/2/AFT). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  9.00

Shocks
LOSB2801	 Shock Body - Blue (LST/2/AFT). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  11.99
LOSB2802	 Shock Cap - Blue (LST/2/AFT). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  8.00
LOSB2803	 Shock Body - Red (LST/2/AFT) . .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  11.99
LOSB2804	 Shock Cap - Red (LST/2/AFT) . .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  8.00
LOSB2805	 Shock Body - Gold (LST/2/AFT). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  11.99
LOSB2806	 Shock Cap - Gold (LST/2/AFT). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  8.00
LOSB2807	 Shock Body & Cap Set - Red (4) (LST/2/AFT). .  .  .  .  .  .  .  .  68.99
LOSB2808	 Shock Body & Cap Set - Gold (4) (LST/2/AFT). .  .  .  .  .  .  .  .  68.99
LOSB2811	 Threaded Shock Body - Hard-Anodized (LST/2/AFT). .  .  .  12.99
LOSB2813	 Shock Adjuster Nut - Blue Aluminum (LST/2). .  .  .  .  .  .  .  .  .  .  6.00
LOSB2814	 Hard-Anodized Threaded Shock Body & Adj. Set (4) (LST/2)	
58.99
LOSB2841	 Titanium Nitride Shock Shaft (LST/2/AFT) . .  .  .  .  .  .  .  .  .  .  .  .  7.50
LOSB2879	 Assembled Threaded Shock with Spring (Blue) (LST2). .  34.99
LOSB2901	 Shock Pivot Balls - Hard-Anodized Aluminum (4) (LST/2/AFT)	
7.50
LOSB2949	 Shock Springs - White 4.0 lb Rate (pr) (LST/2/AFT). .  .  .  .  .  6.50
LOSB2951	 Shock Springs - Black 6.0 lb Rate (pr) (LST/2/AFT). .  .  .  .  .  6.50
LOSB2952	 Shock Springs - Yellow 7.4 lb Rate (pr) (LST/2/AFT). .  .  .  .  6.50

Transmission
LOSB3193	 Inside Gear Cover (LST2). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  5.50

Clutch Parts
LOSB3323	 Aluminum Clutch Shoe & Spring Set (LST2)
LOSB3340	 Clutch Bell Only 2-Speed (Threaded) (LST/2) . .  .  .  .  .  .  .  .  10.00
LOSB3350	 18T Steel Pinion (LST/2). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  5.00
LOSB3351	 18T Steel Pinion with Ti-Nitride (LST/2) . .  .  .  .  .  .  .  .  .  .  .  .  .  14.99
LOSB3356	 25T Steel Pinion (LST/2). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  5.00
LOSB3357	 25T Steel Pinion withTi-Nitride (LST/2). .  .  .  .  .  .  .  .  .  .  .  .  .  .  14.99

2-Speed & Slipper Parts
LOSB3410	 2-Speed Low-Gear Hub with 1-way (LST/2/AFT). .  .  .  .  .  .  22.99
LOSB3411	 2-Speed Hi-Gear Hub with Bearing (LST/2). .  .  .  .  .  .  .  .  .  .  16.99
LOSB3420	 70T Spur (Low) Gear (Stock) (LST/AFT) . .  .  .  .  .  .  .  .  .  .  .  .  .  4.00
LOSB3424	 63T Spur (Hi) Gear (Stock) (LST/AFT). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  4.00
LOSB3428	 2-Speed Steel/Ti-Nitride Gear Conversion (LST/2). .  .  .  .  .  79.99
LOSB3429	 70T Steel Spur with Ti-Nitride (1st) (LST/2) . .  .  .  .  .  .  .  .  .  .  33.99
LOSB3430	 63T Steel Spur with Ti-Nitride (2nd) (LST/2). .  .  .  .  .  .  .  .  .  .  25.99
LOSB3431	 Drive Rings for 70T Steel Spur (2) . .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  2.00

Drivetrain Parts
LOSB3509	 Wheel Hex Set - Hard-Anodized Aluminum (LST/AFT) . .  19.99
LOSB3510	 20mm Wheel Hexes - Aluminum (2)(LST/AFT). .  .  .  .  .  .  .  .  15.99
LOSB3511	 Nut Set (Large/Small) for 20mm Hex (2). .  .  .  .  .  .  .  .  .  .  .  .  .  .  4.00
LOSB3531	 Aluminum Diff Cases - Polished (LST/2/AFT). .  .  .  .  .  .  .  .  .  10.00
LOSB3532	 Aluminum Diff Case - Blue (LST/2/AFT). .  .  .  .  .  .  .  .  .  .  .  .  .  11.99
LOSB3535	 Ti-Ni F/R Ring & Pinion (LST/2/AFT) . .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  37.99

Hardware
LOSB4021	 Pivot Balls - Hard-Anodized Aluminum (4) (LST/2). .  .  .  .  .  .  8.00
LOSB4102	 Titanium Nitride Inner Hinge Pins (2) (LST/2). .  .  .  .  .  .  .  .  .  .  8.00
LOSB4103	 Titanium Nitride Outer Hing Pins (2)(LST/AFT). .  .  .  .  .  .  .  .  .  8.00

Motor Accessories
LOSB5031	 Finned Engine Mounts - Hard-Anodized Aluminum (LST/2). 
12.99

LOSB5050	 Exhaust Header (RE) & Springs (LST/2/AFT). .  .  .  .  .  .  .  .  .  17.99
LOSB5051	 Exhaust Header Seals & Springs (2)(LST/2/AFT). .  .  .  .  .  .  .  6.00
LOSB5054	 Exhaust Pipe Seals & Springs (LST/2). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  6.00
LOSB5056	 Tuned Pipe Mount & Hardware (LST/2) . .  .  .  .  .  .  .  .  .  .  .  .  .  .  2.50
LOSB5055	 Tuned Exhaust Pipe (LST) . .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  39.99
LOSB5057	 Tuned Pipe & Header - Polished (LST/2). .  .  .  .  .  .  .  .  .  .  .  .  69.99
LOSB5058	 Tuned Pipe & Header - Hard-Anodized (LST/2). .  .  .  .  .  .  .  74.99
LOSB5060	 “HT” Tuned Pipe & Header - Polished (LST/2). .  .  .  .  .  .  .  .  69.99
LOSB5061	 “HT” Tuned Pipe & Header - Hard-Anodized (LST/2). .  .  .  74.99

Motor Accessories
LOSB5100	 Spin-Start Hand Held Starter (LST/2). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  44.99
LOSB5102	 Spin-Start Motor & Battery Leads (LST/2) . .  .  .  .  .  .  .  .  .  .  .  16.99
LOSB5103	 Spin-Start Mechanics (LST/2). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  22.99
LOSB5104	 Spin-Start Hex Starter Shaft (LST/2). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  5.00
LOSB5105	 Spin-Start Hand Strap & Pin (LST/2) . .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  5.00
LOSB5106	 Spin-Start Case & Switch Set (LST/2) . .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  8.00
LOSB5108	 Spin-Start Drive Gear (Metal) (LST/2). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  3.00

Body & Accessories
LOSB8001	 LST Body Painted Blue with Stickers . .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  49.99
LOSB8002	 LST Body Painted Red with Stickers. .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  49.99
LOSB8003	 LST Body Clear with Sticker & Masks. .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  29.99
LOSB8005	 LST “Racer” Clear Body with Stickers & Masks. .  .  .  .  .  .  .  30.99
LOSB8011	 LST2 Body Painted Grey with Stickers. .  .  .  .  .  .  .  .  .  .  .  .  .  .  49.99
LOSB8012	 LST2 Body Painted Red with Stickers . .  .  .  .  .  .  .  .  .  .  .  .  .  .  49.99
LOSB8014	 LST2 Body Clear with Stickers. .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  34.99
LOSB8015	 Aftershock Painted Blue Body with Stickers. .  .  .  .  .  .  .  .  .  .  49.99
LOSB8016	 Aftershock Clear Body with Stickers & Masks . .  .  .  .  .  .  .  .  34.99
LOSB8150	 Wing Kit (LST/2/AFT) . .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  14.99
LOSB8151	 Wing Only (LST/2/AFT). .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  9.00
LOSB8201	 LST Sticker Sheet. .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  5.00
LOSB8202	 LST2 Sticker Sheet. .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  5.00

Radio Parts and Accessories
LOSB0806	 MRX-3000 DSM Receiver. .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  109.99
LOSB0807	 MTX Pro 3010 DSM Transmitter. .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  69.99
LOSB0818	 MS103 Standard Digital Servo. .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  16.99
LOSB0819	 MS303 High Torque Digital Servo. .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  26.99
LOSB0899	 On/Off Switch . .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  4.99
LOSB9950 	 5-Cell 6V 1100mAh NiMH Receiver Pack. .  .  .  .  .  .  .  .  .  .  .  .  33.99



Page 3

B
3603

B
3125 B

3138

B
3606

A
6206 B

3605

B
4203

B
3601

B
3128

B
3127

B
3118

A
6940

A
6940

A
6247

B
3127 B

3125

B
3128B

3102

A
6250A

6246

A
6250

A
6206

A
6248

A
6355

TR
A

N
SM

ISSIO
N

 A
SSEM

B
LY

A
6940

B
3132

B
3133

A
6107

A
6941B

3135

B
3125

B
3132

B
3125

A
6107

B
3138

A
6234

B
3136

A
6941B

3118

TRANSMISSION ASSEMBLY



Page 4

DRIVE TRAIN ASSEMBLY

Page 16

B3401

B3545

B3450

A6305

B3541
A6250

B2257

A6201
A6350

A6937

B3423 A6937
B3341

A6356
B3301

B3323

B3301

B5051

B5056

A6206

B6350

B5049

B5062

B3545

A6250

B3505

B3301

B2257
B3541

B5020

B5020

B5021

A6240
A6350

B5051

B3301
B3125

A6250

B4204

B3532

B3538

B3451

A6942

B3505

B3537

A6942
B3534

A6942
B3534

B3538

A6210

B3539
B3534

B3538

B3538 B3532

B3532B3540

B-3538

B3539

A6356A6356

B5052             

B3455

B3455
B3409

B3404

B3421 

B3423 



Page 5



Page 6

CHASSIS



Page 7

FRONT ASSEMBLY



Page 8

REAR ASSEMBLY



Page 9

M26MB Engine� with Pull/Spin-Start

D
Y

N
0929

LO
SR1038

D
Y

N
0930

D
Y

N
0931

D
Y

N
0932

D
Y

N
0928

LO
SR1038

D
Y

N
0933

LO
SR1038

LO
SR1038

LO
SR1037

LO
SR1042

C
A

R
B

U
R

ETO
R

LO
SR1038

LO
SR1032

LO
SR1041

LO
SR1030

D
Y

N
0915

LO
SB

5051

D
Y

N
0923

D
Y

N
0924

LO
SR1038

D
Y

N
0927

LO
SB

4204

D
Y

N
0926

D
Y

N
0926

LO
SR1039

LO
SR1020

LO
SR1021

(O
p

tio
n

al LO
SR1022)

LO
SR1023

LO
SR1024

LO
SR1025

LO
SR1026

LO
SR1027

LO
SR1028

D
Y

N
0909

LO
SB

3301

D
Y

N
0913

D
Y

N
0911

LO
SR1029

®


